
Holman 

Rancho Cordova, CA 95742 

800-343-7486 

InstallationSupport@Holman.com 

20221107R1 DATE: ________________ 

 

 

Installation Guide 

40380 

 

file://///RCDWPVINFFS01.AUTOTRUCK.COM/Shares/shop/Kargo%20Master/Updated%20instructions%202022/InstallationSupport@Holman.com


 

 

For Technical Support Call: 800-343-7486, Monday-Friday, 7AM - 4 PM (PST) Page 1 

 

Instructions – 40380 

PLEASE READ ALL INSTRUCTIONS AND WARNINGS PRIOR TO 
ASSEMBLING, INSTALLING, AND USING THIS PRODUCT. 

Warning 
Always check for wires, fuel tanks and lines, brake lines and other important 
vehicle functionality items prior to drilling and installing all products. 

Tools Needed 

 

Phillips Driver 1/4” Drill Bit (optional) 

Drill (optional)  
 

Table of Contents 

Parts List  .................................................................................................................2 

Hardware List  ..........................................................................................................2 

Step 1 Assemble  .....................................................................................................3 

Step 2 Find Location ................................................................................................3 

Step 3 Attach  ...........................................................................................................4 

 

 

 

Before You Begin 

 Read all instructions. 

 ENSURE SAFETY PRIOR TO DRILLING. 

 

 

 



 

 

For Technical Support Call: 800-343-7486, Monday-Friday, 7AM - 4 PM (PST) Page 2 

 

Instructions – 40380 

Parts 

 

 



 

 

For Technical Support Call: 800-343-7486, Monday-Friday, 7AM - 4 PM (PST) Page 3 

 

Instructions – 40380 

Hardware 

 

 

Step 1 – Assemble Tote Holder 

 Bolt both side assemblies to the back support in the orientation shown using 
#10 x 1/2" pan heads, #10 flat washers and #10 lock nuts.  



 

 

For Technical Support Call: 800-343-7486, Monday-Friday, 7AM - 4 PM (PST) Page 4 

 

Instructions – 40380 

Step 2 – Find Location 

 Find desired location for tote holder to be 
installed.  

 Slots and holes can be found along the shelf of 
most Holman shelf units.One can make use of 
these. 

 If desired, place tote unit in any desired 
location, mark holes and drill with 1/4" drill bit. 

 Be sure the shelves are in the position shown. 
The shelf lip should facing upwards. 

 

Step 3 – Attach 

 Bolt tote holder to shelf using a #10 x 1/2” pan heads, #10 flat washers and #10 lock 
nuts.  



 

 

For Technical Support Call: 800-343-7486, Monday-Friday, 7AM - 4 PM (PST) Page 5 

 

Instructions – 40380 

Tote holders may be installed in a variety of different locations. 

Some examples are shown below. 

Ensure all bolts are tight.  

 

Your Installation is now complete. 
 


